42 RETL BTV 2 ZD Y S LE (R 2FFTHEH)

® XBYFHFHFAPE
1. p# :114#5%21p (=)

pF R 0 13:00

PR JoRRALE CA22KE e BRI A2k E

7Rtk ETI12402 KR

® mury v
FPOEPRIE G RTIEAFEY ox ¥ £ [ 06-2133111 (#138) > & kR K
kerrie927 @mail.nutn.edu.tw

@ G PA R FAcEp g o AFFIHMRATI4850 210 (Z) RP EF A H/ECFFT T
R ¥R e R 2 Y o R e f

P wn

® I HZH:

Y%L A L2 2, FRFEF)
1 > FTHZ M11237010 Foff B 2|
2 AR - M11409001 % off # B
3 - " $11312039 Zo¥ B |
4 Koo $11212037 2ok B |
5 Koo $11212074 A ogx, B |
6 = ¢ S11212066 oz 2 B F|
7 B $11340005 Moz B )
8 HH- $11340010 Fhoit B )
9 - S11340011 FROYE_ 2 B
10 Py $11340012 R0 % B 2|
11 - S11340019 0 2 2R
12 - $11340032 £ onf B 2|
13 P $11340043 Most B B



mailto:kerrie927@mail.nutn.edu.tw

14 P $11240006 B o4 3 R
15 S $11240011 Jp ok 3 R
16 EES o $11240029 * o 3 2R
17 L $11240041 Lok 3 2R
18 E L $11040008 Hok B B
19 me =@ S11122002 ENC % 2R |
20 - $11340022 o 3 R
21 - $11340026 E o % 2R
koL 4B g5 & FRAFB -]
1 ¥E A M11203014 Foie foig B |
2 ¥E A M11209019 Hox ferig 3 -
3 AR = M11209019 X ok ferig 3 -
4 =Y M11141007 0% ferig 3
5 M M11237010 Foff Fer g B )
6 He i TR = T11255112 Jp 08X forig 5|
7 T B R = M11250011 Mo ¥ Fe g B )
8 %- 0 $11312010 oz Fe g B )
9 - $11312060 # O Fe g B )
10 - $11312064 % O3] ferig B )
11 =@ $11212013 Hom ferig 3
12 ¥z ¢ $11112078 HrodF feig B )
13 By $11340015 Fropt Ferig B )
14 E $11340017 Fok foig B |




15 - $11340020 ok ferig 3 -]
16 Y $11240027 % oPF ferig 3
17 H - $11228003 fiom foig B |
18 WY - $11313031 fok ferig B )
19 - S11327010 FOE Ferig 3]
20 i $11027043 Ao¥ forig 3
21 2= $11122008 5 o Felg B 4|
22 He =" $11122014 Bo% ferig 3 -
23 e #ic = $11250044 % 0% g B |
24 T ¥ = $11150013 PO pT ferig 5|




